
Toutes les Opérations (G)Calculez chaque somme, différence, produit, ou quotient.6 - 1 = 6 + 4 = 3 × 6 = 9 - 5 =9 - 3 = 18 - 12 = 17 - 5 = 15 - 8 =19 - 12 = 27 ÷ 3 = 12 ÷ 12 = 33 ÷ 3 =5 + 11 = 49 ÷ 7 = 6 - 5 = 15 - 3 =8 + 9 = 6 + 2 = 2 × 4 = 44 ÷ 11 =7 + 5 = 11 + 9 = 8 + 2 = 6 + 9 =5 + 4 = 9 + 10 = 16 - 6 = 16 - 6 =4 + 6 = 7 - 2 = 6 × 8 = 4 - 2 =45 ÷ 5 = 96 ÷ 12 = 21 - 9 = 49 ÷ 7 =24 - 12 = 1 × 4 = 12 + 7 = 8 × 12 =1 + 1 = 27 ÷ 3 = 11 + 5 = 13 - 5 =1 × 5 = 9 + 1 = 23 - 12 = 9 × 3 =60 ÷ 12 = 8 × 6 = 44 ÷ 11 = 8 + 8 =22 - 11 = 10 × 3 = 9 × 8 = 5 × 3 =10 - 9 = 30 ÷ 6 = 2 × 11 = 55 ÷ 5 =2 + 6 = 2 × 7 = 9 + 7 = 10 + 5 =81 ÷ 9 = 6 × 6 = 20 ÷ 10 = 9 + 3 =12 + 2 = 3 - 2 = 18 - 7 = 1 + 8 =21 ÷ 7 = 12 × 5 = 4 + 6 = 10 × 1 =21 - 11 = 4 × 1 = 19 - 11 = 22 ÷ 11 =11 × 9 = 6 + 12 = 11 × 7 = 12 ÷ 3 =15 - 9 = 16 ÷ 4 = 84 ÷ 12 = 12 ÷ 4 =13 - 11 = 6 - 2 = 15 - 8 = 3 + 12 =11 ÷ 1 = 19 - 7 = 6 × 12 = 49 ÷ 7 =13 - 10 = 13 - 10 = 12 ÷ 12 = 9 × 8 =Mathslibres.com



Toutes les Opérations (G) RéponsesCalculez chaque somme, différence, produit, ou quotient.6 - 1 = 5 6 + 4 = 10 3 × 6 = 18 9 - 5 = 49 - 3 = 6 18 - 12 = 6 17 - 5 = 12 15 - 8 = 719 - 12 = 7 27 ÷ 3 = 9 12 ÷ 12 = 1 33 ÷ 3 = 115 + 11 = 16 49 ÷ 7 = 7 6 - 5 = 1 15 - 3 = 128 + 9 = 17 6 + 2 = 8 2 × 4 = 8 44 ÷ 11 = 47 + 5 = 12 11 + 9 = 20 8 + 2 = 10 6 + 9 = 155 + 4 = 9 9 + 10 = 19 16 - 6 = 10 16 - 6 = 104 + 6 = 10 7 - 2 = 5 6 × 8 = 48 4 - 2 = 245 ÷ 5 = 9 96 ÷ 12 = 8 21 - 9 = 12 49 ÷ 7 = 724 - 12 = 12 1 × 4 = 4 12 + 7 = 19 8 × 12 = 961 + 1 = 2 27 ÷ 3 = 9 11 + 5 = 16 13 - 5 = 81 × 5 = 5 9 + 1 = 10 23 - 12 = 11 9 × 3 = 2760 ÷ 12 = 5 8 × 6 = 48 44 ÷ 11 = 4 8 + 8 = 1622 - 11 = 11 10 × 3 = 30 9 × 8 = 72 5 × 3 = 1510 - 9 = 1 30 ÷ 6 = 5 2 × 11 = 22 55 ÷ 5 = 112 + 6 = 8 2 × 7 = 14 9 + 7 = 16 10 + 5 = 1581 ÷ 9 = 9 6 × 6 = 36 20 ÷ 10 = 2 9 + 3 = 1212 + 2 = 14 3 - 2 = 1 18 - 7 = 11 1 + 8 = 921 ÷ 7 = 3 12 × 5 = 60 4 + 6 = 10 10 × 1 = 1021 - 11 = 10 4 × 1 = 4 19 - 11 = 8 22 ÷ 11 = 211 × 9 = 99 6 + 12 = 18 11 × 7 = 77 12 ÷ 3 = 415 - 9 = 6 16 ÷ 4 = 4 84 ÷ 12 = 7 12 ÷ 4 = 313 - 11 = 2 6 - 2 = 4 15 - 8 = 7 3 + 12 = 1511 ÷ 1 = 11 19 - 7 = 12 6 × 12 = 72 49 ÷ 7 = 713 - 10 = 3 13 - 10 = 3 12 ÷ 12 = 1 9 × 8 = 72Mathslibres.com


